2017 PMP Mill & Overlay Bid Tabulation										
14							ell & Sons	C	4/10/2017	
Item No.	Description	Unit	Qty.	Engineer Unit Price	's Estimate Total	Unit Price	Total	Unit Price	Bowen Asphalt Total	
MAIN	BID		•							
1	Asphaltic Concrete Surface, 2"	S.Y.	39943.00	\$8.00	\$319,544.00	\$6.75	\$269,615.25	\$6.80	\$271,612.40	
2	Asphaltic Concrete Intermediate, 4"	S.Y.	4400.00	\$16.00	\$70,400.00	\$14.50	\$63,800.00	\$20.00	\$88,000.00	
3	Asphalt Patching	S.Y.	200.00	\$100.00	\$20,000.00	\$54.00	\$10,800.00	\$40.00	\$8,000.00	
4	Milling (Total Width Cut) 2"	S.Y.	39943.00	\$1.50	\$59,914.50	\$1.15	\$45,934.45	\$1.60	\$63,908.80	
5	Milling (Total Width Cut) 4"	S.Y.	4400.00	\$2.50	\$11,000.00	\$3.65	\$16,060.00	\$11.00	\$48,400.00	
6	Concrete Entrance	S.F.	100.00	\$10.00	\$1,000.00	\$12.95	\$1,295.00	\$11.55	\$1,155.00	
7	Curb & Gutter, (All Types)	L.F.	4958.00	\$30.00	\$148,740.00	\$32.50	\$161,135.00	\$31.60	\$156,672.80	
8	Handicapped Ramp	EA	4.00	\$1,300.00	\$5,200.00	\$1,515.00	\$6,060.00	\$1,430.00	\$5,720.00	
9	Concrete Sidewalk 4"	S.F.	2130.00	\$7.00	\$14,910.00	\$8.00	\$17,040.00	\$8.00	\$17,040.00	
10	Manhole Adjustment	EA	7.00	\$1,100.00	\$7,700.00	\$1,250.00	\$8,750.00	\$1,650.00	\$11,550.00	
11	Project Sign (CARS)	EA	4.00	\$500.00	\$2,000.00	\$520.00	\$2,080.00	\$570.00	\$2,280.00	
12	Loop 6x50	EΑ	63.00	\$1,500.00	\$94,500.00	\$1,350.00	\$85,050.00	\$1,485.00	\$93,555.00	
13	Pavement Markings, 4" Broken White Line Thermoplastic	L.F.	1280.00	\$0.80	\$1,024.00	\$0.30	\$384.00	\$0.30	\$384.00	
14	Pavement Markings, 4" Solid Yellow Line Thermoplastic	L.F.	7695.00	\$0.80	\$6,156.00	\$0.30	\$2,308.50	\$0.30	\$2,308.50	
15	Pavement Markings, 4" Broken Yellow Line Thermoplastic	L.F.	980.00	\$0.80	\$784.00	\$0.30	\$294.00	\$0.30	\$294.00	
16	Pavement Markings, 6" Solid White Channalization Line Thermoplastic	L.F.	3630.00	\$1.10	\$3,993.00	\$0.50	\$1,815.00	\$0.55	\$1,996.50	
	Pavement Markings, 12" Solid White Crosswalk Line Thermoplastic	L.F.	810.00	\$6.50	\$5,265.00	\$0.85	\$688.50	\$0.95	\$769.50	
18	Pavement Markings, 12" Solid Yellow Crosshatching Thermoplastic	L.F.	30.00	\$6.50	\$195.00	\$0.85	\$25.50	\$0.95	\$28.50	
19	Pavement Markings, 12" Solid White Crosshatching Thermoplastic	L.F.	80.00	\$6.50	\$520.00	\$0.85	\$68.00	\$0.95	\$76.00	
20	Pavement Markings, 24" Solid White Stop Bar Thermoplastic	L.F.	715.00	\$13.00	\$9,295.00	\$3.00	\$2,145.00	\$3.30	\$2,359.50	
- 21	Pavement Markings, Arrows (Lt. & Rt.) Preformed Thermoplastic	EA	55.00	\$300.00	\$16,500.00	\$200.00	\$11,000.00	\$220.00	\$12,100.00	
22	Traffic Control (Lackman Rd.)	L.S.	1.00	\$40,000.00	\$40,000.00	\$37,000.00	\$37,000.00	\$14,000.00	\$14,000.00	
23	Traffic Control (Pflumm Rd.)	L.S.	1.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$14,000.00	\$14,000.00	

Item				Engineer's Estimate		O'Donnell & Sons		Superior Bowen Asphalt	
No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total	Unit Price	Total
	TOTAL BASE BID				\$868,640.50		\$793,348.20		\$816,210.50

tem				JM Fahey		McAnany Construction		
No. IAIN	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total	
	Asphaltic Concrete Surface, 2"	S.Y.	39943.00	\$8.25	\$329,529.75	\$6.75	\$269,615.25	
	Asphaltic Concrete Intermediate, 4"	S.Y.	4400.00	\$19.75	\$86,900.00	\$14.20	\$62,480.00	
3	Asphalt Patching	S.Y.	200.00	\$94.00	\$18,800.00	\$32.00	\$6,400.00	
4	Milling (Total Width Cut) 2"	S.Y.	39943.00	\$1.60	\$63,908.80	\$1.35	\$53,923.05	
5	Milling (Total Width Cut) 4"	S.Y.	4400.00	\$11.00	\$48,400.00	\$1.50	\$6,600.00	
6	Concrete Entrance	S.F.	100.00	\$11.00	\$1,100.00	\$11.00	\$1,100.00	
7	Curb & Gutter, (All Types)	L.F.	4958.00	\$31.75	\$157,416.50	\$29.90	\$148,244.20	
8	Handicapped Ramp	EA	4.00	\$1,361.00	\$5,444.00	\$1,365.00	\$5,460.00	
9	Concrete Sidewalk 4"	S.F.	2130.00	\$8.00	\$17,040.00	\$7.60	\$16,188.00	
10	Manhole Adjustment	EA	7.00	\$1,750.00	\$12,250.00	\$1,260.00	\$8,820.00	
11	Project Sign (CARS)	EA	4.00	\$372.00	\$1,488.00	\$365.00	\$1,460.00	
12	Loop 6x50	EA	63.00	\$1,433.00	\$90,279.00	\$1,415.00	\$89,145.00	
13	Pavement Markings, 4" Broken White Line Thermoplastic	L.F.	1280.00	\$0.60	\$768.00	\$0.58	\$742.40	
14	Pavement Markings, 4" Solid Yellow Line Thermoplastic	L.F.	7695.00	\$0.60	\$4,617.00	\$0.58	\$4,463.10	
15	Pavement Markings, 4" Broken Yellow Line Thermoplastic	L.F.	980.00	\$0.60	\$588.00	\$0.58	\$568.40	
16	Pavement Markings, 6" Solid White Channalization Line Thermoplastic	L.F.	3630.00	\$1.00	\$3,630.00	\$1.05	\$3,811.50	
17	Pavement Markings, 12" Solid White Crosswalk Line Thermoplastic	L.F.	810.00	\$6.50	\$5,265.00	\$6.30	\$5,103.00	
18	Pavement Markings, 12" Solid Yellow Crosshatching Thermoplastic	L.F.	30.00	\$8.50	\$255.00	\$8.40	\$252.00	
19	Pavement Markings, 12" Solid White Crosshatching Thermoplastic	L.F.	80.00	\$6.50	\$520.00	\$6.30	\$504.00	
20	Pavement Markings, 24" Solid White Stop Bar Thermoplastic	L.F.	715.00	\$12.75	\$9,116.25	\$12.60	\$9,009.00	
21	Pavement Markings, Arrows (Lt. & Rt.) Preformed Thermoplastic	EA	55.00	\$207.00	\$11,385.00	\$204.00	\$11,220.00	
	Traffic Control (Lackman Rd.)	L.S.	1.00	\$11,600.00	\$11,600.00	\$18,550.00	\$18,550.00	
23	Traffic Control (Pflumm Rd.)	L.S.	1.00	\$11,100.00	\$11,100.00	\$18,000.00	\$18,000.00	

Item				JM Fahey McAnany Construc		Construction		
No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total	
	TOTAL BASE BID				\$891,400.30		\$741,658.90	